3.2

510610

43Kkm 32Mw

4 =B./B, =44
A =2 =44
A =4 =6.633

o =A% =12841.97

A, = 6.633
A, =4, =6.633
— An— ha— —
o—
1.35 1.87m/s
d5=0.2 0.4mm
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100

Ae—

0.20 0.28m/s

H

7\,u0_

> 10m



3.3

350m 20.0m 650m 19.0m
4
4.1
1
1 2 % m'/s Z@m | Z (m) | Az(m)
(%) 1100 30.90 30.73 0.17
(3-33%) 8938 29.84 29.72 0.12
5 8322 29.52 29.41 0.11
10 6403 28.46 28.39 0.07
29.84m 20 5443 27.87 | 27.80 | 0.07
30.90m 3000 26.00 25.97 0.03
1940 24.75 24.74 0.01
Hhjk,mm,m,m, ,m
2.187.GyM
20.0 | 20.2 19.0
1 —
4.2 8| aron,
20.0 ;E i [ircm}
g
2.27m/s 1
0+107.25m
2.39m/s 0+205.65m pueres o
(0+95.65m) 63m/s 20.0 | I LIRS (R ETR I S
1_53m/5 .00,8.0_19.30-90 20.00 _ 32.00 _ 14.00,
2.78 °’l<—'——¢ 1.00
2.88m/s 200 ;[ ié[ 8.2 176 190
:‘ 28.00 67.00
2
4.3
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930 m*/s

22.24m 0.5m 19
(0+46.65m) 0.87m/s
1.0m 10~11
(0+46.65m) 3.41m/s 5.0m
(0+46.65m) 1.99m/s 0.5m
17.70m 0.5m 19.20m 1.73m/s
17.70m
19.70m 19.20m
4.4
0.5m 1.0m 2.0m 4.0m
15.92m 15.04m 28.6m
0.5m~4_0m 13.94~15.48m
33.0~14.52m
13.94m
0.5m
5
YA 22.23m e< 0.3m
22.23m< Z 23.07m e=0.5m
23.07m< Z 23.68m e=1.0m
23.68m< Z 24.13m e=1.5m
24_13m< Z 24.53m e=2.0m
24 53m< Z 24.82m e=2.5m
24 _82m< Z 25.11m e=3.0m
25.11mg Z 25.33m e=3.5m
25.33m< Z e=4.0m
Z 22.44m e=0.3m
22 44mg Z 23.31m e=0.5m
23.31Im< Z 23.87m e=1.0m
23.8Mm< Z 24.36m e=1.5m
24 _36m< Z 24._7Tm e=2.0m
24 7Mmg Z 25.08m e=2.5m
25.08m< Z 25.37m e=3.0m
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25.37Tm< Z 25.65m

25.65m< Z
2.0m 11
6
6.1
6.2
6.3
6.4
6.5
6.6
[1] , , -
,2003,(3):17-18.
[2] , , ,

,2003, (4)

e=3.5m
e=4.0m

17.70m
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0.2~0.3m

13.94m

13.94m
19.20m

[J1.

[J]





